
���  ا���ض ا�ول ��ض ��ل ����
�                                  ر���
�ت:  ا���دة������
% $� #": ا��!� ى                                    ا����  ا�

/ .� ا����
�:  ا�-(ف                   $+* ل $��( ا�)�ھ�: ا�#��ذ $�  2006/  01/  15:  �9ر�8 ا����
�                      ا7ط�ع �*4 ���23 وا��1اك ا��

                                                                      @-3�(Aأ C� �9و  
Dـــــــــــــــــــــــــــــــــــــــــــــــــــ�ز  ا���ا�G�
-ـــــــــــــــــــــــــــــــــــ�ت  ا7H ا��  
%I
  :�ء ا�3�J+% ا�A)  ا��-

�� ا������ ا��	��   D , C ,Bإ��	د إ
�ا�
	ت ا���� *   
 * �
��	��	ب ا��
AB   وAC  ا#ول ������� ا�  
  ذ*� أ�)اع ا�&وا�	 �� ا������ ا��ا%$ * 

 23��Lا� M� %$�� ة�N.:  
@!O0  ا�-

4.99  
5-

7.99  
8-

9.99  
10-

11.99  
12-

14.99  
15-

17.99  
18-
20  

  ا���G ع

  38   03  05  08  07  07  05  03  1م2
    38  06  00  09  06  07  08  02  2م2

�
  ا����
����Gا�  

%W�H7ذج ا ��  
��Oط  D� : )5 ا�����M ا�ول  (  

   
 4
56�  )01(ا�
�	ب 
AB  وAC   

 AB = (+4) – (-3) = (+4) + (+3) = 7cm ).................1(    
AC = (-1) _ (-3) = (-1) + (+3) = 2cm  ).....................1(  

D(3.5) ).......01    ؛E(-2.5) ).............01(  
 ������Oط D� : )4 ا�����M ا� (  

  
A(2 , -3 ) )............1(  

  
B(2 , 3 )   ة�
F�A ر(HI Jإ� KL���	%         B        D        

 MNا(Oا�)...............1(  
C (-2 , -3 )   ة�
F�A Jإ� KL���	%  

 P
Qا��  )(HI.....)......1ر ا�
  

D (-2 , 3 )  ة�
F�A  أ�Lا�� Jإ� KL���	%O 
)..................1(  

  A  C 
 

 [�����Oط  D� : )6 ا�����M ا� (  
A=-12 -(-3) + (-6) – (+15)   

A = -12 + ( +3 ) + ( -6 ) + ( -15 )  
A = -12 +3 -6 -15                         

  
  
  

�� إ��	ز ا�5H)ل T
IU�  ـ إ�Wاك ا�
  
  
  


& \6I J5	��K ا#]Z	ء*��  ـ ا�



 
 

  A = -12 -6 – 15 +3              
A = -33 +3                          

                A = -30              )...........03 (  
B = (-14.5) – (-8) – (-7) + (-8 ) +(+15) –(+9)   
B = (-14.5) +(+8) +(+7) + (-8) +(+15) +(-9)     
B = -14.5+8+7-8+15-9                                      

B = -14.5 -9 +7 +15                                             
 B = -23.5 +22                                                     

                                             B = -1.5                .........)...03(  
 ^Wا��ا M�ا���� D� : )5 ط�O� (  Z 

5%�	ن %	��أس  BAXوXAZˆ'ا�&او��	ن 	��I ن	�  )1(زاو�

ZBYا�&او��	ن  ��	ورQ	ن YBZˆ'وˆI)1(                   X'              X                    

'ˆ'ا�&او��	ن  XAZوYBZ ˆ 	
�L	د��	ن دا]5I)1(  

XAZا�&او��	ن  'ˆ'وˆ YBZ	
cر	ن ]	��L	د�I)1(         Y'                                Y 

5�	نZBYˆ'وZAXˆ'ا�&او��	ن �	��I)1(  
  Z' 

  

  9 ز�^
  �وراق ا

ef	��5
Z[i� T	ء ا��)c)دة  اhطUع \J5 ا���  إدراك ا�
�6�ادjkوا �QاTا� l
Hm�5�                                             

�
  ا����
  ا�/ا�9

n�O�% nf	Z[أ l
HmQ  �QاTا� l
Hm�  �IاKLo ا�

4 ��5mH)ا \  ا��Oار� ��T5ا� T
IU���\	ء ا�jض إ�Oا� ����	ر�� ا��Z6	ة � K5�	�I ر��	�Q MH� راك��jhا Km
 Jا��6�ل إ� J5  


